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3o F T
TZH R Metde oAl SaXM12 5(83) stE 40,000 50,000
golee 2 Metd e oAl s M1ZE 1(3S) stE 40,000 50,000
M QI El o HMetd s oAl AT 2 235-11(A3SE) | 235 50,000 60,000
£32 o Metd = oj=Al AH3Z 35(38) sts 50,000 60,000
kel e L= Hetgd = oAl A|ES2Z2 16(H5) sts 45,000 70,000
A S H oE Metd = oAl A|A3Z 35-6(515) sts 50,000 60,000
NS =R Mete e of Al A|H3Z 35-6(8H5) Bl 50,000 60,000
< HOFX} L= Hetg = oAl A|ES3ZE 13(H5) sts 45,000 55,000
OHS}E o Hetd = oAl A|ES3Z2 12-15(5) ElsS 45,000 50,000
APl o Meted = oAl A|EES2E 22-1(2S) stE 45,000 80,000
4 o MEtHE oAl ABE 231(ASE) L2TE 50,000 60,000
My L=} Hetdz oAl SsM1ZE 13(5) stE 40,000 45,000
YI=TH 24 HEtd e oAl A8 322 33(43) stE 50,000 60,000
oz H o Mete s oAl A8 S22 36(3S) stE 40,000 40,000
HEod oE MEtEE oAl A|H3Z 35-14(8H5) stE 50,000 70,000
LIEARS S ™ ol Metd = oAl AIEAM6E 3 (3S) stE 100,000 130,000
H|L| 7Ot = ' Of 5= =H Mete = oAl A|IEAM6ZE 19 (3HS5) sts 97,000 117,000
o+folEZ=HE L= Metd = oAl AIEE3Z 30-7 (&5) st 50,000 60,000
Of =i H|X| = & =H Meted = oAl AIEM6E 5 (2S8) s 50,000 60,000
asteAsH o Mete e oAl AI§M6ZE 11 (3S) stE 60,000 80,000
AMORT Z &l =9 Hetd = oAl AIEAM6Z 23 (H5) stE 70,000 110,000
OF 21| O] = &t =g=] Metedz of=Al A|EAM6Z 15 (33) sts 60,000 300,000
MoteAm 2 Mete e oAl AI§AM6Z 15 (3s) stE 60,000 80,000
HotX| sl =4 Hetd e oAl A8 M6Z 13(3HE) stE 60,000 70,000
H|QHH|X| 22 = & 2 Hetd = oAl AEM6Z 25(H5) stE 77,000 120,000
S HtheE a4 2H Hetgd = oAl A €S 32 30-5(23) sts 50,000 60,000
MK= & oE Mete = of=AIAEA5ZE 16(8HS) sts 50,000 70,000
Al AE| 24 Metde oAl A|8E 32 30-2(34s) stE 50,000 60,000




29 22y 24 HEtE e oAl A|EE32 30-3(H3) i 50,000 60,000
30 OfYHE 2 |MEtEE oAl A|EM5Z 26 (B3) ElE= 40,000 50,000
31 Zetstz B |TEHEE oAl A M1ZE 56(8HS) stE 40,000 50,000
32 Of M = & 2 |HEtdE oAl AIEE22 30(33) stE 50,000 60,000
33 SfAH| 7tA D = Hetd= oAl ZF3Z 3(BFS) o 50,000 60,000
34 gl 24 MEtde oAl 22 48-7(5F3) st 35,000 50,000
35 M LR= MEtd e OA| SF4Z 5(5F3) ) 50,000 60,000
36 AlH o & 24 Metde oAl 222 8(5FS) Rt 30,000 40,000
37 ZEf R L=l MEtE e oAl 2R1Z 36(EES) gd8s 40,000 50,000
38 oq;;rg;a su | HEldE o4 BYE 20(HEE) 955 | 70000| 100000
39 otz @S == MEtHE of=A| &HE3|Z 99(EHE3) 553 100,000 140,000
40 S =X HAM Metde oAl YR 33(HES) HES 80,000 150,000
41 Oof =il A E =4 Hetd = oAl YAR 40(H53) HE5s 50,000 100,000
42 of2|Ofz= A =g MEtE L ofA| AAE 185(HE5S) H5s 140,000 198,000
43 HFC} 3 & =L HEtd e oAl YLE 213(H53) HES 30,000 30,000
44 SEI Y o MEtdE oAl RLEER 75X E) +=8s 50,000 70,000
45 HS 22 o &l =g=] MEtdE oAl LEEE 74(FHE) =85 60,000 120,000
46 Z2gAnd (== Mtz OlpA| RLEER 61-14(3HS) | S 60,000 90,000
47 Y3z [=R=" HMetHdz oAl RLEER 61-6(3HE) | +¥E 40,000 60,000
48 2|t 2t 2 E == HEtHE oA ASMSR2Z 13(8H3) = 40,000 40,000
49 Ll e [=}=] Hetd e oAl ARSI R2ZE 15(%8) sts 35,000 40,000
50 SHETT [=1=] Hetd = oAl ASHSR3ZE 8(83) stE 40,000 60,000
51 St LR= HEtHE oAl ASMSR2Z 19(8H3) sts 60,000 90,000
52 ESEE 24 Metde oAl ASMHSA1E 8(Es) RS 50,000 60,000
53 AYod =R MeEtdE oAl B2 2 32-8(85) sts 40,000 50,000
54 za(Ah= & 2H Metd = oAl ASMSRA3ZE 6(83) Elss 40,000 70,000
55 ing= & 2 |HEtEE oA ASHSR3ZE 2(325) Elss 40,000 70,000
56 SEIMBLeAHO| g |MatdE ol5A| sHE22 30(8HE) sts 50,000 70,000
57 ZetAtEE 2 |TEtHE oA ASMSH1ZE 26(8H3) sts 40,000 40,000
58 el H 2 |TEtHE oA 522 15(%S) sts 40,000 50,000
59 oAz 2 |MatdE oAl SHEM1E 16-6(8HS) sts 40,000 50,000
60 He=d 28 |HE2tEE oAl ASMSHEE 14-138)| o= 25,000 25,000




Ef S 2 2E  |FEIEE OffA| 522 23(8HS) sts 40,000 50,000
JtERH 28 ([H2tEE oAl ASMHSATE 24(3S) EIES H H &
6&9 2 H R Metetz oAl A3 21-10EHES) | s 50,000 60,000
FLHZH 24 Metde oAl G4 21-6(3HE ) oIS 50,000 60,000
AlA D E 24 MEtHE oAl QA 2133t S) IS 40,000 50,000
2lH 5t A 22| MEtEE oAl gA3E 24-7(21EE) LIPS 35,000 35,000
Sy L= Hetd e oA GA3ZE 24218 S) CIPSES 50,000 60,000
ofz| = oH Hete = oAl G432 21-4(31E5) CIPSES 50,000 60,000
M|O| F ol Ed 2E | MEtEE oAl gA3E 24-8(21EB) LIPS 50,000 60,000
OEFE 2E HEtE e oAl GA3Z 21-5(2HES) ot E 50,000 60,000
Off &~ 2 & 24 MEtHE oAl 2M6Z 434 3S) MAS 50,000 60,000
7tete g 2 Metees oAl 2462 42-4(MAS) MEAS 40,000 50,000
M22g 24 MEtHE oAl 2M6Z 42-3(MBS) MEs 50,000 50,000
EC 24 Hetdz oAl d4hZ 8-4(2tES) IES 45,000 50,000
CIOpE QI E 24 Matd T ojAl A3 2117318 s) | sEsE 50,000 60,000
YLrECQITH 24 Metdz oAl 432 21-11(3Es) | 2Es 60,000 80,000
KRN H oH MEtEE oAl Y432 21-15HEE) | ES 60,000 80,000
A 2| Rp| A 2 2 Mttt oAl R E3RZ 69(ETE) | B8 40,000 55,000
ALt S | MEtHE oAl 252106, 65,75(BS) | 258 70,000 80,000
ZANEZE 2 Metd e oAl A 1R 95-9(0 M &) M-S 40,000 50,000
YOHHH| =L ADH) E Metd e oAl 2542 58(2T8) ETE 70,000 90,000
ASY Q= 24 HMetd e oAl 0212 39-14(0IMS) | OME 40,000 50,000
Sto|F ol & L= Hetdz oAl 22122 84(ZT3) ZTE 50,000 60,000
Je|AEtDE oE MEtEE oAl 0212 43-17(01M5) | dMS 40,000 50,000
MIZE 2 Metd e oAl Ol Z 22 76-1(EF3) | &5 50,000 60,000
1THIt= 24 Metdz oAl 0212 43-21(0AM &) | dAMES 50,000 70,000
g2 L= MEtEHE Of=A| {212 43-13(0IM8) | ExS 50,000 60,000
AnEsH 24 o222t 69(0 M) Ms 40,000 60,000
G2H oH 0212 43-7( M 5) qME 40,000 55,000
KIZE 2 |MEtEE oAl 0222 33(EFS) | 253 50,000 60,000
252 H oE | MEldE oAl O R ESRE 65(ETs) | &S 50,000 60,000
Azo3 2E  |HMEtHEE oAl O{M12 95-8(0 M=) AMS 40,000 50,000




93 Aep= & gE | MEtEE oAl S4ET7E 11108 4Hs)| Sits 60,000 120,000
94 St L& D (MEtEE oAl SMUHET7TE 11-11(848)| sits 40,000 60,000
95 OlAZE 2 |MEtEE oA SAHETE 11-20348)| SitE 50,000 70,000
9% EEAZE 28 |[MetdRE oAl S4tE6E 11-18(848)| S4E 40,000 70,000
97 aghze| 2 | HEtHE oAl SLEH8ZE 17(34S) Sits 40,000 60,000
98  |AHIOMHIX|LAZEf 2 |FEHE oAl SA4HEE 17-15(848)| SME 77,000 110,000
99 Mo == &l 2 Metgd = oA 8472 11-15848) | 845 40,000 50,000
100 HF 2 2 Metde oAl 8A4E7ZH 11-24(84H8) | S4ts 40,000 50,000
101 "R e |MEtEE oAl SAHE6E 7(34HE) ShE 40,000 50,000
102 oFA=HE 2E Hetd e oAl SMEHT7ZE 8(ELS) ShE 40,000 60,000
103 Heand 24 Hetd e OA| SUEHT7ZE 13(84S) aits 50,000 70,000
104 adzd 2 Metde oAl 84EH8Z 11-16(84tE) | 84& 30,000 40,000
105 MEeR 2 2E | MEtEE oAl SAHH6Z 11-984ts) | Sits 40,000 50,000
106 B L A 2 2 | MEtEE oA SAHEE 17-7(84H8) | SitE 50,000 70,000
107 Oj2H =& 28 |[MetdkE oAl 46 11-15(848) SiE 35,000 40,000
108 eETHM HME  |[HEtEE oAl SHHE 78(F8s B3ts 50,000 80,000
109 Of g=H| X H M HM  |MEtEE OfA| SHEZ 64(5%ts) ER 90,000 150,000
110 Ctote H 2E | HEHE oAl S2HE2ZE 13(32S) 5%tE 30,000 40,000
111 dEE HEsE o |HEHE Al SRHEH2ZE 203 %) 395 40,000 60,000
112 < Ot & S |HEtHE O LEER 20(8%H3) 33l= 65,000 120,000
113 H=INNHAZESIRAA2ESA|HEIHE OlFA| S2HEH2Z 16-1(32s) | 32 15,000 15,000
114 2 o &l 2E  |HEtHE oAl SBHEH2Z 8-1(82Hs) 335 40,000 50,000
115 CHEAAESIRA | 2" (HEtdk oAl 3222 15-1(32s) | 3= 30,000 40,000
116 2|2 2 |HEtEE oA 32E2E 15(3%8s) 335 40,000 50,000
117 e 2 et R oA 33822 25-1(8%s) | S%E 30,000 40,000
118 ZaADH R | HEtHE Al SEZE 87-1(3%S) 33HE 35,000 50,000
119 =25 HM  [HEtEE oAl S0 UFE 9 =S 70,000 120,000
120 SHEE2HEIM HM  |HEHEE oAl E4HS AEHSICE 85 ShS 60,000 80,000
121 SHX|HFz2HdHM]  HM  |HEHE oAl S4S ZIFSHHE 76 =S 50,000 130,000
122 EHETY SH  |MEtEE oA S4HS ZHBHeEE 93 =S 50,000 60,000
123 DS & o9 |[HEtHE oA SiE AHE 42 =it 50,000 60,000
124 AR AH HM  |MEtHE oA S4HS TSt 9 =S 89,000 139,000
125 L& d BN |[HEtEE oA S4ts dH4Z 53 Sth= 40,000 80,000




126 HM Hetd = oAl A2 2 2(53tS) 80,000 120,000
127 HAM Hetd e oAl oA T2 1(52s) 96,000 150,000
128 HM | M= oA O|2ABHE 202 35(33SE) 90,000 125,000
129 HMEtd e oAl 13H1Z 6-3(15) 40,000 50,000
130 Hetd e oAl WESEH1Z 5-5US) 50,000 80,000
131 Hl HEtd T oAl SHEZ 66(523) 95,000 139,000
132 ofm=n ™ HMetd = oAl 1SH1Z 6-1(1S) 40,000 50,000
133 Hetd e oAl RESEH1ZE 6-12(XS) 40,000 80,000
134 HMEIHE OfA] O] =AM BE 2 191(B5}HE) 15,000 18,000
135 Metg e oAl Ol E TR 135(F3E) 95,000 | 140,000
136 HeEtdz oA S22 2-2(3Y3) 25,000 25,000
137 Heted = oA OB Z 159 (3YE) 108,000 195,000
138 HEtd e oAl S22 18(14A5) - 20,000 22,000
139 Metdz oAl SYR 72-21(3YS) Rk 40,000 80,000
140 Heted e oAl WESEH1Z 5-4(1s) ns 15,000 20,000
141 FEtHE oAl 2242 52(2ES) REUS 50,000 50,000
142 MEtd s oAl Q842 53(2EE) (1= P 50,000 65,000
143 MEtd s oAl Q242 552 E) Qs 50,000 60,000
144 HeEtd = oAl RE4Z 5428 T) REYE 40,000 50,000
145 ANELEZH MEtHE oAl 28142 5922 ) REUS 50,000 65,000
146 Ol5tR A H Metd: oAl RE4Z 61(LES) RAUS 60,000 70,000
147 Metdz oAl 222 12-6(22S) (o X=F 40,000 50,000
148 Hetd e oAl QE2Z 12-4(2EUS) e s 60,000 70,000
149 FEtEE oAl RQER2Z 12(RES) REUSF 40,000 50,000
150 Metde oAl LE4Z 48(2ES) QEE 40,000 50,000
151 Metd e oAl 532 1R21(EYS) THS 40,000 50,000
152 Hetd e oAl 2932 41(EEHS) =53 40,000 50,000
153 Hetd = oAl 532 6-1(=98) zHs 40,000 50,000
154 Metd = oAl £E32 6-21(E9S) =HE 35,000 40,000




